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	KS1:0 Strands of progress = 2.25% (2 pupils)
        1 Strand of progress = 13 (11 pupils)
[bookmark: _GoBack]        2 Strands of progress= 9% (8 pupils) 

	KS2: 1 Strand of progress= 9% (8 pupils)
         2 Strands of progress=6% (5 pupils)
         3 Strands of progress=8% (7 pupils)
         4 Strands of progress=5% (4 pupils)


	KS3: 0 Strands of progress= 1% (1 pupil)
         1 Strand of progress=7% (6 pupils) 
         2 Strands of progress= 3.5% (3 pupils)
         3 Strands of progress= 3.5% (3 pupils)
         4 Strands of progress= 2.5% (2 pupils)

	KS4: 0 Strands of progress=2.5% (2 pupils)
        1 Strand of progress=14% (12 pupils)
        2 Strands of progress=1% (1 pupil)

	KS5: 1 Strand of progress=9% (8 pupils)
         2 Strands of progress=2.5% (2 pupils) 
         4 Strands of progress=1% (1 pupil) 

	



image1.jpeg
Thrive strands of progress 22-23 (86 pupils)

4 strands (7 pupils)

__ostrands (5 pupils)

3 strands (10 pupils)

FLiLELLLI 1 strand (45 pupils)




